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. Define an Algori i 1

(1) . gorithm. List the steps involved in the devel i

iy ~ How do circular queues hel overcome the ; i chment han sl

1 T
(iiy  What do you understand by the term ‘G E( o e ot gEE glctes?
. < ar H ™ 30
(v) Ifastack S[I:n] were to be implemented 1’%? o cton'?
w g i ‘e
procedure to undertake *Pysly operatio |S] FEBORER o the tack s S i
. ation on S.
v)  Whatis the max. and min, ny ;
( mber of elements a 100-way search tree of height 3 can hold?
Part-A
For the followi e

(a) 0 owing array, B compute the following: (i) dimension of B
(ii) space (?CCUplCd by B in the memory and (iii) address of B[7,2]

(b) Two algorlthlns A and B report time complexities expressed by the functions n* and 2"
TCSPCC“"Cl'}’- They ﬂl'f’. to be executed on a machine, M which consumes 10* seconds to exccute
an instr lICFlon. What is the time taken by the algorithms to complete their execution on machine,
A for an input size of 50? If another machine, N which is 10 times faster than machine, M is
offered for the execution; what is the largest input size that can be handled by the two algorithms
on machine, N? Give the observations.

(a)  Write an algorithm to convert the following infix expression to prefix expression.
(A*B-F*H) D, forA=2,B=1,D=2,F=4and H=3.

(b)  What do you understand by the term ‘Priority Queue’? Explain in detail the various methods of
implementing a priority queue and discuss their time complexities.

()  Consider COLOURS [0 : 3] be a Circular Queue data structure. Perform the operation of
inserting following colors: Orange, Blue, White, Yellow and Red colors into the queue.

(b)  Write a recursive program to obtain the n" order Fibonacci sequence number. Include the
appropriate input / output statements to track the variables participating in recursion. Is there any
‘invisible’ stack at work? Record the observations.

Part-B
(a) A binary tree T has 9 nodes. The inorder and preorder traversals of T yield the following:
' H D B G
Inorder traversal (I): E A C ]l< (E b . G Bl
< J
Preorder traversal (P):F A E ~ -
Draw the binary tree T. ) ) _ N

(b) Write a recursive procedure to count the number of nodes in a bmm‘_v tree. .

l. lain the process of Depth First Traversal of an undirected graph.

(@)  Write a procedure to expia

. VL Trees. , . .

(b) . Write a short note on A-« (race its adjacency matrix and adjacency list representations.

(a) For a graph of your c.hou,c, ‘ c“ . I.i‘il' L= {001, 101,010, 000, 1L 110,011, 100},

(b) Perform Radix Sort for the following It
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